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M. A. (Final) EXAMINATION, 2021 

ECONOMICS 

(Compulsory) 

(Group—I) 

Paper First  

(Economics of Growth and Development) 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- fodkl’khy vFkZO;oLFkk dh ewyHkwr fo’ks”krkvksa dk o.kZu dhft,A 

Describe the basic features of an developing economy. 
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vFkok 

(Or) 

^ekuo fodkl lwpdkad* D;k gS \ bls dSls ekik tkrk gS \ vkfFkZd 

fodkl esa blds egRo dks crkb,A 

What is ‘Human Development Index’ ? How is it measured ? 

Explain its importance in economic development. 

bdkbZ&2 

(UNIT—2) 

2- dkyZ ekDlZ ds fodkl ekWMy dk vkykspukRed ijh{k.k dhft,A 

Examine critically the growth model of Karl Marx. 

vFkok 

(Or) 

Jherh tkWu jkWfcUlu ds i¡wth lap;u ekWMy dh O;k[;k dhft,A 

Explain Mrs. Joan Robinson’s model of capital 

accumulation. 

bdkbZ&3 

(UNIT—3) 

3- vkfFkZd fodkl ds fy, vkFkZj ysfol ds vlhfer Jfedksa dh iwfrZ 

ekWMy dh O;k[;k dhft,A 

Explain the unlimited supply of labour of Arthur Lewis 

model for economic development. 
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vFkok 

(Or) 

lUrqfyr fodkl fl)kUr dh vkykspukRed O;k[;k dhft,A ;g fopkj 

vlUrqfyr fodkl dh vo/kkj.kk ls fdl izdkj Js”B gS \ 

Critically explain the concept of Balanced Growth. How is it 

superior to the concept of unbalanced growth ? 

bdkbZ&4 

(UNIT—4) 

4- fodkl’khy ns’kksa esa vk; ds vlekurk dh izdf̀r ,oa dkj.kksa dh 

O;k[;k dhft,A 

Explain the nature and causes of income inequalities in 

developing countries. 

vFkok 

(Or) 

iw¡th mRikn vuqikr D;k gSa \ iw¡th mRikn vuqikr dks izHkkfor djus 

okys dkjdksa dks le>kb;sA 

What is capital output ratio ? Describe the factors which 

affect capital output ratio. 
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bdkbZ&5 

(UNIT—5) 

5- fofu;ksx ekinaM dk D;k vFkZ gS \ lkekftd lhekar mRikndrk 

ekinaM dh foospuk dhft,A 

What is meant by ‘Investment Criteria’ ? Explain the social 

marginal productivity criterion. 

vFkok 

(Or) 

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 

¼v½ ykxr&ykHk fo’ys”k.k 

¼c½ Nk;k dhersa 

¼l½ dky Js.kh ekinaM 

Write notes on any two of the following : 

(a) Cost-Benefit Analysis 

(b) Shadow Prices 

(c) Time Series Criterion 
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